35 Wihich is closest to the total surface area of a cylinder with a radius of
5 inches and a height that is equal to its diameter?

A 314 sqin. 2

G > S.P ATt 2rmrch
C 596 sqin.
D 785sqin.

37 The radius of Sphere A is 2 inches, and the radius of Sphere B is 4 inches.
How many times larger is the volume of Sphere B compared to the volume of

Sphere A ?

41 padis s B gimesenlons
C 4

D 8 j g
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@A) Ry



38 A cylinder has a diameter of 10 inches and a height four times its radius.
What is its volume?

F 5007 cuin. 2,

2,0007 cuin.

4,0007 cuin. V = r)T r zh

40,0007 cu in. —_-Tr 5 i 9\0
S -r-uu

“Irao

40 A trapezoid is located entirely in quadrant II. If this trapezoid is reflected
across the x-axis, in which quadrant will the new trapezoid be located?

F I

G_1II I P

P
VAN

&%

&




39 P(3,5), 0Q1, 7)-I.e connected to form a trapezoid.

2/ 2 PT/ : '\\\
3 \\
<?\l—2> '87'6'5'4‘3"'5}1234 fi el
4 :
¥4

P - L

What is the midpoint of SR ?

A (0,73)
B (4,1
C (3,°15)
D (272



41 Rectangle ABCD is placed on a grid as shown.
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26+ 00=-C
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=6 3

Which is closest to the length of diagonal AC ?



42 Which of the following letters has both line symmetry and point symmetry?

b
%

T
3

28

b
Given the polygon shown above, mZA+mZF +msE +msD+msC +m4sB =
G2y ieo =120



29 The circumference of circle C is 144x.




43 Triangle ABC was transformed into triangle A’B’C’. Which term most
accurately describes this transformation?

|
B B’

e
et
d::/T/
I
= Pd ad
|
IS
=

PR
—

P
)

A Tessellation
C Rotation
D Translation




44 A quadrilateral is placed on a grid as shown.

y
5
ALY

\

(.3+2 -t 2
2 :

= / <3 /Lz T ol 2 =
S| 1’ ,
2, 2 F
L/
6

The apparent midpoint of BD is —



26 In the diagram, AB is tangent to the circle at point A, and BD intersects the
circle at points C and D.

What is the value of x ? )_I q -



27

In the drawing above, what must be the coordinates of I) to show ABCD is
a square?

A

B
C
D

(7,7)
(4,7)
(4,5)
(4,4)

(4, 1)

> X

10



23 Given: AQRS where mZ( =20° and mZS = 90°

A X hy P R
S"\zoa o 1,000 meters x dfP

! . So'l\?o. 27 /I?_

X = )ooogqa 0 S

What is the length, to the nearest meter, of RS ?

18 John wants to make a triangular garden. Which of the following are

possible dimensions?/\

X Grohov 151 %
EC6ftby 6leby 127t €D
’H )6ftby8ftby10ft 2V ¢

J 8ftby12ftby 20 ft

11



22

—

45°

In the figure, what is the value of x ?

6
H 6J3

T

12



24

In the circle, what is

60°

B

easure of ZABC ?

160°

13



25 This figure shows a pattern of triangles and regular hexagons.

,{0 UD X
922)}‘?" "’”
. \
=120

What is thevalueof x ? eyt £~

A 302 A
=
D—T10

14



26 Which figure has all sides of equal measure but not necessarily all angles of

equal measure? .
-—L—1 1
dare -r -:-
ey T
H Rhombus ’l

J Trapezoid

27 Whatis mZDAR in circle A ?

15



35 Which is closest to the total surface area of a cylinder with a radius of
5 inches and a height that is equal to its diameter?

EEL o, ancea M
Cman | .pm.gteams: o

37 The radius of Sphere A i@'lches, and the radius of Sphere B is@:hes.
How many times larger is the volume of Sphere B compared to the volume of
Sphere A ?

A 2

=
° AN
> <<é r>g

16



38 A cylinder has a diameter of 10 inches and a height four times its radius.
What is its volume?

m \):: ’”’(:L[q
H 4,000 cuin. 2.
-5 <2

J 40,0007 cuin. -

40 A trapezoid is located entirely in quadrant II. If this trapezoid is reflected
across the x-axis, in which quadrant will the new trapezoid be located?

G II I

17



39 P(3,5), 0Q1, 7)re connected to form a trapezoid.
}!
Pl

a1t
440
P N
_ | rr S
"L‘-"-% ) 3 \\
2
2 7 | : R
'87'6'543‘_(:31'1?34 '?3'—‘r
— 7) <
a [ */ =4
ST T T
-7
-8
Y
What is the midpoint of SR ?
A (0,73)
B (4°1)
C (3, -15)
D (2 -2



41 Rectangle ABCD is placed on a grid as shown.

y
A
5
4
Aa‘ -
2 2 2
CD + (0 = C‘Z s R
[1%6~/c® (DITmm e
.G > C | N
& IED!
-5
Y

Which is closest to the length of diagonal AC ?

19



42 Which of the following letters has both line symmetry and point symmetry?

SDM@
F S
G D
H M

> S D

28

F

Given the polygon shown above, mZA +msZF +mZE +msZD +mZC+msiB =

(n-2)- %0

@-—2)\?0"’720'

20



29 The circumference of circle

What is the length of AMB ?

A 8r
B 16rx
D 967

21



43 Triangle ABC was transformed into triangle A’B’C’. Which term most
accurately describes this transformation?

7
| a |
B B B'
N : /
\\ 3 .’/
N 4 F.
N ; 4
N[ s
. N |4 .
CTTTTTANATTTTT C .
_g.?-r-s.q-zﬂ__{lli 14567 80
-2
4
5
N3
-7
8
-8

TC—Retatior_

D Translation

22



44 A quadrilateral is placed on a grid as shown.

N [

™

N

/2.+3 %‘f’”)
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< . > 5 4 -3 ’[‘2 /‘1.
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Ja o0 o=

Dled=]

The apparent midpoint of BD is —



26 In the diagram, AB is tangent to the circle at point A, and BD intersects the
circle at points C and D.

What is the value of x ? LI ® q = x ' X

24



(4, 1)

In the drawing above, what must be the coordinates of I) to show ABCD is
a square?

A (7,7)
B (4,7)
C (4,5
D (4,4)



23 Given: AQRS where mZ( =20° and mZS = 90°

s'f\ ad. "5_ 1000"7:’.
e - 500 ,000 meters
| ’ . _/
_ '000.5;4\ 70Q
ar 242

What is the length, to the nearest meter, of RS ?

18 John wants to make a triangular garden. Which of the following are

possible dimensiom

26



22

] 45°

In the figure, what is the value of x ?

ITfwe 2
/F’( ‘F“'J"t/ Gz"b =X

Gend ATkT

H 6J3

el

2.

27



24

60°

20 B

In the circle, what is the measure of ZABC ?

160°

28



25 This figure shows a pattern of triangles and regular

Q\_Q}.IKD'

=20 g
—— |20
G = |

/
\

What is the value of x ?

B 60

_C—790
D 20"

ext L=

29
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